









































































































































34

$$x = \begin{pmatrix} x_1 \\ x_2 \end{pmatrix} \quad \mu = \begin{pmatrix} \mu_1 \\ \mu_2 \end{pmatrix} = \frac{1}{N} \sum_{i=1}^N x_i$$

2 × 2 covariance matrix :

$$E \Big[(x - \mu)(x - \mu)^T \Big] =$$

$$E \Big[\begin{pmatrix} x_1 - \mu_1 \\ x_2 - \mu_2 \end{pmatrix} (x_1 - \mu_1, x_2 - \mu_2) \Big] =$$

$$E \Big[\begin{pmatrix} (x_1 - \mu_1)^2 & (x_1 - \mu_1)(x_2 - \mu_2) \\ (x_1 - \mu_1)(x_2 - \mu_2) & (x_2 - \mu_2)^2 \end{bmatrix} =$$

$$\frac{1}{N} \sum_{i=1}^N \Big[\begin{pmatrix} (x_1^i - \mu_1)^2 & (x_1^i - \mu_1)(x_2^i - \mu_2) \\ (x_1^i - \mu_1)(x_2^i - \mu_2) & (x_2^i - \mu_2)^2 \end{bmatrix}$$





